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Directions : This question paper is divided into three parts : 'A’, 'B' and 'C'.
(i) 971 'S |9 aenferal & foe st 2
Part 'A' is compulsory for all candidates.
(ii) @01 @ IR T H F D e 9N & DR 2
Any one part from Parts 'B' and 'C' is to be attempted.
(iv) Wi &g eiRa 3ie 16 g sifesa F |
Marks allotted to the questions-are mentioned against them.
(v) W% 9o B SIMIES ufed e gl SR afre)
Read each quéstion carefuily and answer to the point.
(vi) W T {589 20 Sgfdsedia v €1 3 el & Y @us & IR § IR Raew
R e $ ot Fioper e seryRaeT § Rl
Question No..1 & 20 are multiple choice questions. Four options are
given in answer of each part of these questions. Write correct option in
yodr answer book.
(vii) 39 999-09 § 799 R DS ey 781 2 qonfy Sfaug weat & snaRe ew wwm

fvar e @1 0 vt Fae ve Rwww &1 & 7R A

There is no overall choice in this question paper, however, an internal
choice has been provided in few questions. Attempt only one of the

given choices in such questions.
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AT - ‘%" (ARET)

Part-'A' (Accountancy)

1. (@ F=fafEa %3 e @ R aveR S5 &1 - @2 1
(i) fFm (i) 37cpeToT BH (i) I SN (iv) IS IRAAA

Which of the following is an example of Non-profit organisation?

(i) Corporations (i) Audit Firms
(iii) Insurance Companies (iv) Public Hospitals
(@) 3ma IR T Far gERa: 30T SR #- 1

(i) JpgIw (i) TN PR (i) g% Ty (iv) nftaaer

Income and expenditure account generally indicates-

(i) Cash Balance (i) Capital Fund
(iii) Net Profit / Loss (iv) Surplus/Deficit
(M) I WA B TN T BN B EwaRa. fsar s - 1
(i) @w-E @ (i) WeERl & G @«
(iii) @ @™ B \\Q&Q (iv) 34 3 B T8

Profit & Loss of isation Account is transferred to-
. N
(i) Profit @%oss Account (ii) The Capital Account of the Partners
Q
(iii) Goo&ill Account (iv) None of these

(@) frdt 7 ORRR @ wRerY ¥ wftnfera fear s wwar 2- 1
(i) & oF oEeR & wEEld ¥ (i) 9N /A IR B e §
(ili) EHT TRERI B TEHla J (iv) 3 9§ B T8
A new partner may be admitted into a partnership-
(i) With the consent of any one partner
(i) With the consent of all old partners
(i) With the consent of majority of partners

(iv) None of these
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(5) e food T sigit & O TR & gvan Sie &RUT @R & 9 B SRR B fedr

ST - 1
(i) o & faaRor & (i) Ui H9a @ ot
(iii) TR HOa @ B (iv) 70 ¥ P &

Balance of forfeited shares account after re-issue of forfeited shares is
transferred to-

(i) Statement of profit & loss (i) Capital Reserve Account

(i) General Reserve Account (iv) None of these

(@) FOFYUR! A & - 1
(i) T & Ted (i) HF & Wicid
(i) TN F THER (iv) T & TS

Debentureholders are the-
(i) Customers of the company (i) Owners of the company
(i) Creditors of the company (iv) Managers of the company

Ae: T A2 4 qo § D T Al & o we SiYal SR’ sifa 3] 31 O
IR JRast H forfae-
Note : In Question No. 2 to 4, mark 'True' or 'False' against the given statements
and write them in your answer book-
2. S UE IR AHSRY TR 2l 1
College is a non profit organisation.
K\Q
3. i 3R T @ e R 1
Receipts and Paym account is an expenditure account.
N
4, YRg # Hikd wﬁ%ﬁ @ AT T2l 2 1

Limited partnership is not allowed in India.

5, HHRA @I R dRAiaE A of SnfiaT T S 87 1
What is called the excess of actual profit over normal profit?

6. WREN of & figed W, i aw 3R Gaa &1 e 59 @n A fear s &2 1
On dissolution of partnership firm, accumulated profits and reserves are
transferred to which account?

7. R AT w@ & N & s g F 5w we (e) & arafa awfan s @2 1
Under which head of company's balance sheet, the calls-in-advance account is
shown?
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8. MW ¥EF W g APs WY A DR ar R faRaw) 2

Write any two differences between Receipt and Payment account and Cash
book.

9. WRER & ¥ a1 o qagd S wRer) wore B sruRufy F g aa &) 2
Give any two rules of partnership which apply in the absence of partnership
deed.

10. RadeNe G vd wmrd G § B & s ferfaw) 2
Write any two differences between fluctuating capital and fixed capital.

11. 39 vd momE § 18 & s=R folavl 2
Write any two differences between shares and debentures.

12. g 6@ ST 77 Yoo & MUR W AW G407 96T @ IR D - 4
3

T I gL T 2,400, SR 1 frar wat IR X 140; BreT Iewb T 700; W T8 X G
9T T 1,500: ffframt & wrat samer % 720, w9 9@ T 600, @H T 1200,

s &

TR T 144; agm@ 41 1200; BTE U1 SR ARTY T 360; ST T BT
Z 1,020; aﬁé\m@a@?ms ferga g 2 480; fawma 3R 3% T 600

A af % 3N e 4G € 300 T HHA T T 500 2T TR W ¥ 200 F T
2l

A58 TDH 1 A 2021 T 1,116;

I8 a3 feawaR 2021 T 3,516,

Prepare a Receipt and Payment Account of Doon Club from the following
information-

Receipts :

Subscriptions Received ¥ 2,400; Rent of Room ¥ 140; Games fees T 700:
Receipts from canteen ¥ 1,500; Interest on Investment ¥ 720; Entrance Fees -
T 600; Donation ¥ 1,200.
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Payments :

Repairs ¥ 144; Petty expenses ¥ 240; Salaries ¥ 1,200; Printing and Stationery
¥ 360; Canteen Stores ¥ 1,020; Wages of guard ¥ 816; Electric charges ¥ 480;
Rent and taxes ¥ 600.

Note : There were outstanding salary ¥ 300 and accrued subscription T 500 at
the end of the year. Furniture is to be depreciated by ¥ 200.

Cash Balance 1st January, 2021 ¥ 1,116.

Cash Balance 31st December, 2021 ¥ 3,516.

13. W 3R W 7 : 3 & Fua F 1w @ RAWIoH ARG g WRIER 7 8| e B ReR &
w0 ¥ yaer féar e &1 A & va # 9 W B & 1/7 3w o @ 3R He d
R & 1/3 o1 c@m a<ar & oy fasem @ 7ar s wa Bl 4
Ram and Mohan have been in partnership sharing profits.in the ratio of 7 : 3.
Sohan is admitted as a partner. Ram surrenders 1/7 of his share and Mohan

surrenders 1/3 of his share in favour of Sohan. Find the new profit sharing ratio.

J¥ar / OR

R FRER & Y | @iy & =0T DI jare et @1 aofw el
Discuss various methods of accounting for goodwill on admission of a new

partner.

14, T 10 wiy 372 avar 10,000 e 37t # fanfora 2 1,00,000 B Ui Jai awelt A fero ST
J 4,000 3 o Frfee fear 5 w w391 21 ames |, T 2 HWEeA |, T 3 WU I
R 3R 9 3 g | 27 &) i 3 o A faferad et mar 1 59 a8l & fote
Asrren wfafear Sifow 4
A Ltd. Company with registered capital of ¥ 1,00,000 divided into 10,000 equity
shares of ¥ 10 each, issued 4000 shares payable as ¥ 1 per share on application,
Z 2 on allotment, T 3 on first call and the balance on final call. All payments were

duly received. Pass journal entries for above transactions.
Jgar / OR
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gaiftieR s @@ 22 fifim seR & EiteR e &1 v BTl

What is a 'Preference Share'? Describe the different types of preference shares.

15. p fafids Y W @ 9 10 @t 1,000 37 Frffira fosdr ! IR A 2 8 3119 W, T 4 3reH
R gt g e v sfam Wi & 2 3 gt T8 R IROTHaT 365 I 1 80T 3}
Rl p s & gt ¥ smawas s+ slafedt sifae) 4
P Ltd. issued 1,000 shares of ¥ 10 each to Ram. Ram paid ¥ 3 per share on
application, Z 4 on allotment, but failed to pay 3 per share on first and final call.
Consequently his shares were forfeited. Pass necessary journal entries in the

books of P Ltd.
16. Frafiiaa siwst ¥, st el & Jaiexor fiftr grr @t &t worn Hifse- 6
() dRafd® 3iFa @ : T 80,000
(i) TR Jera @ & : 10%
(iii) e Tt (ST B BigaR) : T 10,00,000
(iv) T T : T 4,00,000
From the figures given lgg@, caleulate goodwill according to the capitalisation
of Average Profits M@%d—
\Q‘Zr
(i} Actual Av%@& Profits : ¥ 80,000
(i) Normal rate of return : 10%
(i) Total Assets (excluding goodwill) : ¥ 10,00,000
(iv) Outside liabilities : ¥ 4,00,000

Jar / OR

B @ srEeRen & av P ik s raiea o fifte ARl o we sifsel

Describe the concept of goodwill and explain the various methods of its evaluation.
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17. 1 38, 2020 B A 9 B &1 31fis g Fraferiaa &1 3 emw-a1f &1 fasnar 3 < 2 & g

¥ axd &l 6
D gRie | e eI
4 3
fafaer &R 15,000 | wad 18,000
ot @ ¢ T T FERI 15,000
A 20,000 Y 12,000
B 25,000 | 45,000 | &ER 10,000
R 5,000
60,000 60,000

75 [&fr &1 ¢ & B ol R aRert § vy far -
(i) @& 25,000 T G5 & wq § 2m qen 1/5 o & TR & @ 10,000 T Wrfer & w9 A

@
(i) Tl &1 geaieA e g3 -
W& 25,000 Z; FIUE § FIERY 12,000 T;-F6E 12,000 Z; 2R 9,500 T (wfever Hoit

& BROT)

(iii) Tg s g3 fob wer a4 v afded 1,500 2 &1 &, o gRas § 21 feran
™ 2 \QQ;\Q’

IRE & G AR @R qUT C & Y39 $ I oY anfores fogr sl

On 1st April, 2&20 the Balance Sheet of A and B is following. They share profits
and losses in the ratio 3:2 .

Download all NOTES and PAPERS at StudentSuvidha.com

Liabilities Amount Assets Amount
4 4
Sundry creditors 15,000 Building 18,000
Capital A/cs 4 Plant & Machinery 15,000
A 20,000 Stock 12,000
B : 25,000 45,000 Debtors 10,000
Cash 5,000
60,000 60, 000
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C was admitted in the partnership on that date under following circumstances :

(i) He will give ¥ 25,000 as capital and will bring ¥ 10,000 as goodwill for 1/5
share of profit.

(i) Assets are evaluated as follows :
Building ¥ 25,000; Plant & Machinery ¥ 12,000; Stock T 12,000; Debtors
T 9500 (due to doubtful debts).

(i) It is known that there is a liability for goods received for ¥ 1,500, which is
not written in the books.
Prepare necessary ledger accounts & also give Balance sheet after the
admission of C.

18. B ¥ T 100 @Y 100 FHT 3% 3 T 50 BN oW v v TTeH1 B YA TE 8 | &/
R e W A, C B T 70 9 3% wia: gFar ama ge g e e €1 & aiR
g Frie & O &g g sfafted &l 6
B's 100 forfeited equity shares of ¥ 100 each for non-payment of first and final
call of T 50 are re-issued to C for Z 70 per share fully paid. Give the journal
entries for recording forfeiture and reissue.

Jyar / OR
mﬁmﬁmwamm@%ﬁgmmmﬁma&mmamﬁ
e fogr & siwr TG0 YR feErar 5T qadT &2

What do you mea c& share capital of a company? In how many classes it can
be divided? Hc@% share capital shown in a company's balance sheet?

19. vaO¢ UEEIS RIeS @1 HOIA Y B T 16,000 &, 3 ¥ 20,000 (ArAM) e B
i &1 v BT § RO T 50,000 § 3R 1% B & WX 10,000 ROTAT BT M B
¥ RIT A 784 B &% A T 12,000 (AR Frder B dur M| IRfH FGEER! Bl o B
%%vmﬁmwaﬁaﬂml{msﬂwﬁﬁrmmqﬁaﬁﬂn 6
The Debenture Redemption Fund of Export Industries Ltd. stood at ¥ 16,000,
represented by ¥ 20,000 (nominal) investments. The debentures stood in the
books at Z 50,000 and the company sold ¥ 12,000 (nominal) investments at X
84 for the purpose of redeeming ¥ 10,000 debentures at a premium of 1%. You
are required to show the ledger accounts to record the above transactions.

(Ignore interest and brokerage).
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o1 - ‘& (i faa=on @1 fazeiwon

Part-"B' (Analysis of Financial Statements)

20. (@) Wit oEied FA9-3 & 3ER ReR TRl & 3 B AR S & - 1
(i) i fosar (i) Tafries foar
(i) i T (iv) SR A DB &
According to AS-3 (Revised), purchase of fixed assets is treated as :
(i) Operating activity (i) Investing activity
(iiiy Financing activity (iv) None of the above

(@) TREA FUT W |iAfeE T8 & - 1

(i) J®g iy . & 9w
(iil) TER (iv) &Rmn

Quick ratio does not include :
(i) Cash (i) Bank Balance

(iiiy Debtors (iv) Inventories

e v EE 21 awy 22 # R e el & WE Hed IRl S i @) I A
IR gReer 4. foilkae-
Note : In Question No. 21 & 22, mark ‘True' or 'False’ against the given statements

and write them in your answer book-

21. @2 WO faawur, Ads @ & vw faweq 2l 1

Cash-flow statement is a substitute of Cash account.

432 (IGX) (9] [P.T.O.
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22. o1 it vd ae e o ameef e 24 2l

Ideal ratio of current assets and current liabilities is 2:1.

23, Ibs Va2 faaRor & B a1 J9a Fad|
Give any two uses of Cash Flow Statement.

24, Freifesd gue & Aes vaE o dar Sife-

2
gRRv® A3 9N 15,000
afaw A I 17,000
wie § 8,000
&g faw d ofg 12,000
YUl et B et 30,000
&Y 37aftr & AT B YIIH 50,000
T & foe amw g\@@ 2,000

From the foltowin%ﬁ'ormation, prepare a cash flow statement-

https:waw.uka online.com

4
Opening Cash Balance 15,000
Closing Cash Balance 17,000
Decrease in Stock 8,000
Increase in Bills Payable 12,000
Sales of Fixed Assets 30,000
Repayment of Long-term Loan 50,000
Net Profit for the year | 2,000
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25, Hehy 1. % af 2021 ¥ i sRe ¥ P ou-avs ki W™ € -

§
TRNS 65,000
¢ ¥ dRA = 3,40,000
af & ke fasa 4,00,000
fsm = 50,000
af 2021 & forw Al 1. &1 T aE A Bl 4

The following inventory data has been taken from the financial records of Maruti
Ltd. for 2021:

4
Inventory Opening 65,000
Purchases during the year 3,40,000
Sales during the year 4,00,000
Closing Inventory 50,000

Calculate Inventory ratio of Maruti Ltd. for the year 2021.

26. T HRIRTE & Al ¥ e wis 31 R, 2022 & wa fsd w3 &

2
IF \\QQ 25,000
R () ,2;\@ 12,000
T QQ\ 8,000
Pl S 2,000
T eR 12,000
eg fau 3,000
et 53,000
[5312] 34,000
o oy 750
b Fu & MR R f B 1o Sifse- 6
(31) Prdeie Toit
(8) &R I
(|) B AEd
432 (IGX) [11] (P.T.O.
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The following data are being taken from the records of Tata Corporation as on |
31st December, 2022-

4
Cash 25,000
Debtors (Net) 12,000
Inventory 8,000
Prepaid Expenses 2,000
Creditors 12,000
Bills Payable 3,000
Sales 53,000
Purchases 34,000
Purchase Returns 750
On the basis of above information, compute the following:
(a) Working Capital Ratio
(b) Quick Ratio
(c) Inventory Turnover \Q&Q

g\
S .
o T (Sifien AEie)
@Part-'t:' (Computerised Accounting)
20. (#) TR & siifos Juaxvi & FEd 1
(i) SigedoR (i) TR
(iify T W (iv) e

Physical components of a computer is called:
(i) Software (i) Hardware

(i) Computér Programme (iv) Data

432 (1GX) [12]
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(@) SR Y& Yol & 1

() TR g (i) @ aBAD

(iii) FHeAd ggkd (iv) 394 3 ¥ B TR
Database Management system is a:

(i) Hardware system (i) Information technique
(i) Software system (iv) None of the above

Ne: e G 21 au 22 A R e e b e e i I Sifed 3% 3
TR gfaa & foRae |
Note : In Question No. 21 & 22, mark 'True' or 'False' against the given statements

and write them in your answer book.

21. P e Ramil @ UF Javs # IR T | 1
Computer can perform millions of operations in one second.
22. TR B o e A g@@ 1
Computer have m@@ence of their own.
@Q
23, i Sedto war &2 2

What is electronic spreadsheet?

24. ﬂwdﬁz%wwﬁﬁﬁaﬁgﬁzﬁm@nmﬁ%aﬂémmml 4
Write any four advantages of using electronic spreadsheet in place of manual

spreadsheet.

25. Wﬁ%aﬁg@ﬁmaﬁml 4

Explain four main features of computer,
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) et v for. 40 =fveat @ Frges axa €, (5o aew § 9 9w, wEmE s, AeH
e sram e wed exfergfel v witwfera &) qnam & Frefafaa from &

Wyt @t o R & foe FfoiRaa greT &1 on ow veR | 3udnT R ge v Ay, e
%y fofaw

wHH fesRmar W : 2 15,000 T a9 ad € 3000, T 25,000 HeT 99 d@ I 5000,

T 40,000 {9 30 | 31 W T 9000.
TS axfergfed s : Gt e @1 20 whie @ aX F Afee =g T 4000. 3

M/S Shyam Ltd. employs 40 persons whose salary comprises basic pay,
dearness allowance, house rent allowance and city compensatory allowance.
The following are the rules that govern the payment:

Write the queries in SQL using the following data in MS-Access to compute
the allowances.

House Rent AIIowanceQ? 3000 upto a basic pay of ¥ 15,000, ¥ 5000 upto
basic pay of ¥ 2%@0 T 9,000 for bas:c pay above ¥ 40,000

City comper@ry allowance : @20% of basic pay subject to a minimum

of ¥ 4000.

(@) FrafoRed g1 & 3R R ANS 09 diN® &el & @ TUFT & Bisiic BHa

forfae - 3
T B ERRIRT T 4000
0T B 3 4 T
wile foswt @t emafdn T 200
foeat o W 48
432 (IGX) ['14 |
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Write spreadsheet formula to find out monthly and annual rate of interest

on the basis of following informations:

Loan Amount T 4000
Term of Loan 4 years
Amount of Monthly Instalments T 200
Number of Instalments 48
ok o e ok ok
™
g\
S
Q
N
$
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